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M. A (First Semester)  

EXAMINATION, Dec.-Jan., 2020-21 

SOCIOLOGY 

Paper Third 

(Social Change in India) 

Time : Three Hours ]  [ Maximum Marks : 80 

    [ Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- ‘Mind and Society’ iqLrd ds ys[kd dk uke gS % 

¼v½ iSjsVks 



 [ 2 ] E–157 

¼c½ VkW;uch 

¼l½ Lisaxyj 

¼n½ Lisalj 

Write the name of author of book ‘Mind and Society’ : 

(a) Pareto 

(b) Toynbee 

(c) Spengler 

(d) Spencer 

2- fdlus dgk&^ØkfUr ,d rhoz ifjorZu gS* \ 

¼v½ lksjksfdu 

¼c½ fdEcky ;ax 

¼l½ gkWij 

¼n½ fczUVu 

Who said—‘Revolution is a rapid change’ ? 

(a) Sorokin 

(b) Kimball Young 

(c) Hopper 

(d) Brinton 

3- lkekftd ifjorZu ds la?k”kZ fl)kUr ds iz.ksrk dkSu gSa \ 

¼v½ LisUlj 

¼c½ iSjsVks 

¼l½ ikjlUl 

¼n½ dkyZ ekDlZ 
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Who is promoter of conflict theory of social  

change ? 

(a) Spencer 

(b) Pareto 

(c) Parsons 

(d) Karl Marx 

4- iqLrd ^ØkfUr dk lekt’kkL=* ds ys[kd dkSu gSa \ 

¼v½ fdEcky ;ax 

¼c½ lksjksfdu 

¼l½ dkWEVs 

¼n½ Lisalj 

The book ‘Sociology of Revolution’ is written by whom ? 

(a) Kimball Young 

(b) Sorokin 

(c) Comte 

(d) Spencer 

5- fuEu esa ls dkSu&lk /kkÆed {ks= esas ifjorZu ugha gS \ 

¼v½ /kkÆed deZdk.Mksa ds egRo esa c<+ksÙkjh 

¼c½ lkekftd n`f”Vdks.k esa ifjorZu 

¼l½ lkekftd dqjhfr;ksa ds izfr uohu psruk 

¼n½ /keZfujis{khdj.k 
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Which is not a change in religious field ? 

(a) Increasing importance of Religious ritual 

(b) Change in social vision 

(c) Awareness against social malpractice 

(d) Secularization 

6- laLÑfrdj.k dh vo/kkj.kk dk iz.ksrk dkSu gS \ 

¼v½ ?kqfj;s 

¼c½ ,e- ,u- Jhfuokl 

¼l½ eVZu 

¼n½ mi;qZDr lHkh 

Who is the promoter of concept of sanskritization ? 

(a) Ghurye 

(b) M. N. Shrinivas 

(c) Merton 

(d) All of the above 

7- fdlus laLÑfrdj.k dks izR;kf’kr lekthdj.k dgk gS \ 

¼v½ ,e- ,u- Jhfuokl 

¼c½ ;ksxsUæ flag 

¼l½ ds- ,e- if.kDdj 

¼n½ gsjksYM xksYM 
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Who said sanskritization is anticipatory socialization ? 

(a) M. N. Shrinivas 

(b) Yogendra Singh 

(c) K. M. Panikkar 

(d) Harold Gold 

8- vLì’;rk vijk/k vf/kfu;e dc ykxw gqvk \ 

¼v½ 1972 

¼c½ 1949 

¼l½ 1829 

¼n½ 1955 

When was Untouchability Crime Act passed ? 

(a) 1972 

(b) 1949 

(c) 1829 

(d) 1955 

9- dkSu ykSfddhdj.k ds vko’;d rRo gSa \ 

¼v½ /kkÆed ladh.kZrk dk kl 

¼c½ rkÆddrk 

¼l½ foHksnhdj.k dh izfØ;k 

¼n½ mi;qZDr lHkh 
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Which are the essential elements of secularization ? 

(a) Decline of religious narrow-mindedness 

(b) Rationality 

(c) Process of differentiation 

(d) All of the above 

10- dkSu Hkkjr ij oS’ohdj.k dk izHkko ugha gS \ 

¼v½ jk”Vªh; vk; esa of̀) 

¼c½ efgyk tkx:drk 

¼l½ jk”Vªh;dj.k 

¼n½ Ñf”k mRikn esa of̀) 

Which is not an impact of Globalization on India ? 

(a) Increase in national income 

(b) Women awareness 

(c) Nationalization 

(d) Increase in agricultural product 

11- dkSu izokl dk dkjd gS \ 

¼v½ tula[;k esa of̀) 

¼c½ Hkwfeghu Ñ”kd 

¼l½ la;qDr ifjokj 

¼n½ mi;qZDr lHkh 
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Which is the factor of migration ? 

(a) Increase in population 

(b) Landless farmer 

(c) Joint family 

(d) All of the above 

12- dkSu xzkeh.k vFkZO;oLFkk dk rRo ugha gS \ 

¼v½ Ñf”k 

¼c½ xzkeh.k cktkj 

¼l½ xzkeh.k ;krk;kr 

¼n½ vkÆFkd ‘kks”k.k 

Which is not the element of Rural Economy ? 

(a) Agriculture 

(b) Rural Market 

(c) Rural Transportation 

(d) Economic Exploitation 

13- ijnsl esa tk cluk D;k dgykrk gS \ 

¼v½ vUrxZeu 

¼c½ cfgxZeu 

¼l½ ekSleh izokl 

¼n½ nSfud izokl 
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What called residing in other region ? 

(a) Ingoing 

(b) Outgoing 

(c) Seasonal emigration 

(d) Daily emigration 

14- iqLrd ^A Handbook of Sociology* ds ys[kd dkSu gSa \ 

¼v½ yEys 

¼c½ ysLVjokMZ 

¼l½ cxsZl 

¼n½ gkWcgkml 

Who is the author of book ‘A Handbook of Sociology’ ? 

(a) Lumley 

(b) Lesterward 

(c) Burgess 

(d) Hobhouse 

15- bfUæ;ijd laLÑfr dk lEcU/k fdl lekt’kkL=h ls gS \ 

¼v½ iSjsVks 

¼c½ lksjksfdu 

¼l½ Lisaxyj 

¼n½ VkW;uch 
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Which Sociologist is related to sensate culture ? 

(a) Pareto 

(b) Sorokin 

(c) Spengler 

(d) Toynbee 

16- fodkl ds rRo gSa % 

¼v½ ifjorZu 

¼c½ fujUrjrk 

¼l½ fn’kk 

¼n½ mi;qZDr lHkh 

Name the elements of development : 

(a) Change 

(b) Continuity 

(c) Direction 

(d) All of the above 

17- fdlus ßlaj{kdrkÞ dk fl)kUr fn;k gS \ 

¼v½ Lokeh foosdkuUn 

¼c½ vjfoUn ?kks”k 

¼l½ egkRek xk¡/kh 

¼n½ xksiky Ñ”.k xks[kys 
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Theory of Trusteeship is given by whom ? 

(a) Swami Vivekananda 

(b) Aurobindo Ghosh 

(c) Mahatma Gandhi 

(d) Gopal Krishna Gokhle 

18- dkSu xzkeh.k thou esa ifjorZu dk dkjd gS \ 

¼v½ fodkl ;kstuk,¡ 

¼c½ uxjhdj.k 

¼l½ lkekftd lfUu;e 

¼n½ mi;qZDr lHkh 

Which is factor of change in rural life ? 

(a) Development schemes 

(b) Urbanization 

(c) Social legislation 

(d) All of the above 

19- dkSu xanh cLrh dk dqizHkko gS \ 

¼v½ LokLF; ij dqizHkko 

¼c½ uSfrd ewY;ksa dk kl 

¼l½ :f<+okfnrk dks izksRlkgu 

¼n½ mi;qZDr lHkh 
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Which is the bad impact of slum ? 

(a) Bad effect on health 

(b) Deterioration of values 

(c) Encouragement of tradition 

(d) All of the above 

20- lkekftd mn~fodkl dk fl)kUr fdl oSKkfud ds fl)kUr ij 

vk/kkfjr gS \ 

¼v½ MkÆou 

¼c½ iSjsVks 

¼l½ LisUlj 

¼n½ dkWEVs 

Theory of social evolution is based on which scientist’s 

theory ? 

(a) Darwin 

(b) Pareto 

(c) Spencer 

(d) Comte 

 [k.M&c izR;sd 1½  

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A iz’uksa ds mŸkj 2 ls 3 okD;ksa esa 

nhft,A 

 Attempt all questions. Answer the questions is 2 or 3 

sentences. 

1- izxfr D;k gS \ 

What is progress ? 
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2- fodkl ls vki D;k le>rs gSa \ 

What do you understand by development ? 

3- lkekftd ifjorZu dh dksbZ rhu fo’ks”krk,¡ fyf[k,A 

Write any three characteristics of social change. 

4- lkekftd ifjorZu ds izdkj fyf[k,A 

Write the types of social change. 

5- Hkkjr esa fo’oO;kihdj.k dks izsfjr djus okys fdUgha nks ?kVdksa ds uke 

fyf[k,A 

Write the name of any two fostering factors of globalization 

in India. 

6- MkÆou ds mn~fodkl fl)kUr ds nks egRoiw.kZ rF; fyf[k,A 

Write two important factors of Darwin’s theory of evolution. 

7- lkekftd ifjorZu ds vkÆFkd dkjd ds iz.ksrk dk uke fyf[k,A 

Write name of the pioneer of Economical factor of social 

change. 

8- vkslokYM Lisaxyj lkekftd ifjorZu ds fdl fl)kUr ls lEcfU/kr  

gS \ 

Oswald Spengler is related to which theory of social  

change ? 

9- loksZn; dks ifjHkkf”kr dhft,A 

Define Sarvodaya. 
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10- ‘osrolu vijk/k D;k gS \ 

What is the white collar crime ? 

 [k.M&l izR;sd 2½  

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj yxHkx 75 ‘kCnksa esa nhft,A 

 Attempt all questions in approximate 75 words. 

1- mn~fodkl ds lkekftd dkjdksa ij izdk’k Mkfy,A 

Enlight the social factors of evolution. 

2- izxfr dh n’kkvksa dks le>kb;sA 

Explain the conditions of progress. 

3- ØkfUr dh izeq[k n’kk,¡ D;k gSa \ 

What are main conditions of revolution ? 

4- laj{kdrk fl)kUr ls vki D;k le>rs gSa \ 

What do you understand by trusteeship theory ? 

5- /keZfujis{khdj.k dh fo’ks”krkvksa dks le>kb;sA 

Describe the characteristics of secularization. 

6- Hkwfe vyxko ds dkj.k crykb;sA 

Tell the causes of land alienation. 
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7- xUnh cfLr;ksa ds vH;qn; ds D;k dkj.k gSa \ 

What are the causes of emergence of slums ? 

8- xzkeh.k vFkZO;oLFkk ds dksbZ pkj rRo fyf[k,A 

Write any four elements of rural economy. 

9- izokl dks izksRlkfgr djus okys dkjdksa dks Li”V dhft,A 

Clear the encouraging factors of emigration. 

10- ehfM;k dh mi;ksfxrk fyf[k,A 

Write the utility of media. 

 [k.M&n izR;sd 4 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj yxHkx 150 ‘kCnksa esa nhft,A 

 Attempt all questions in 150 words approximately. 

1- Lisalj ds js[kh; fl)kUr dks le>kb;sA 

Explain the Linear theory of Spencer. 

vFkok 

¼Or) 

 lksjksfdu ds lkekftd ifjorZu ds fl)kUr dh foospuk dhft,A 

Discuss the theory of social change of Sorokin. 
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2- lkekftd ifjorZu ds vkÆFkd dkjd dh O;k[;k dhft,A 

Describe the economic factor of social change. 

vFkok 

¼Or) 

 lkekftd ifjorZu esa /keZ dh Hkwfedk dks le>kb;sA 

Explain the role of religion in social change. 

3- laLÑfrdj.k ij ,d fucU/k fyf[k,A 

Write an essay on Sanskritization. 

vFkok 

¼Or) 

 fo’oO;kihdj.k dh foospuk dhft,A 

Describe the globalization. 

4- xzkeh.k vFkZO;oLFkk ds fodkl ,oa fo’ks”krkvksa dks Li”V dhft,A 

Clear the development and characteristics of rural economy. 

5- izokl ds dkj.kksa dh O;k[;k dhft,A 

Discuss the causes of migration. 

vFkok 

¼Or) 

 vijk/k ds lkekftd&vkÆFkd dkj.kksa dh O;k[;k dhft,A 

Discuss the socio-economic factors of crime. 
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